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= W EMAS SEH:

R B R A& REFEXR #x
R F— w1 X 20°C{RTF | IGAHETAN 2.5mL Zifk
RAZ | KK 10mLx1 ] | 4°CIRTF
ISERETIN 1mL Fook Z B2
PR MR 1 X 4°CIRTF | OB, WWERRER
5.17mmol/L,

=. FTERNEMAM:
FErR{L. 96 FLik. TTIARIBRIE. KSR, 8. B0V, k. ZEIEK,
. SREEEE (TC) SEME:
BWIEXKIGENAR 2 MERBIUNE, THRAMERER,
IREE!
1. HEARGIE:
D BLREA:
FRERZ9 0.1g HRFEAMAGFEASE, AN ImL 28, #177KE 5%, 12000rpm, 4°C=) =5 2+ 10min,
B EEREN.
] - FEMEARE, FRBHEOARE (o) : RBEURmML)A 1: 5~10 BIELGIHTIZER.
2 ME/MEREAR:
EWEBRERRMBE B OERN, BOEFLE WA 500 HTHRESAMIIN ImL
Bz, BEEWEMARERSAE (K9S, ThE 200W, 87 3s, [EfE 10s, EEE 30k) ; 12000rpm 4°C
B0 10min, B EE, BKEFN.
(] : ZEnErsE, TIRBEE/AREE (10 : BEGE (mL) J3500~1000: 1 BYELEIHITIREL.
@ BEHEA BENRESEAERENE, &ERNECERERN,
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@ BEFRAUTRER 30 min, IR 510 nm,
@ FrERFIMAEZEE (25°C) , 7 96 FLARPFHCKIIN:

PBLWRIE, BRSIUAEAIIKF

— s s 2SS
wiam G | omee | R TR
EFIN 25
FRAE SR 2.5
718K 2.5
B — 50 50 50
= 200 200 200
B, 37°CHEE 10min, F 510nm &MEEE EWRILE A

IR AR RS T G
www.adsbio.cn < A ——————=,



Ll
Y A  — (/0ISHENG
400-080-7688
E] 1LENEEN AEXRT 1, WEIBEASMEHEAR ZEHITHER (BEEREHANIIEEREIEL K
PBS SR KRR , BREH D ER/ANARENITE.
2EANEEFEARTZEE, ATEEMAERMBEETE VI QMEE spL KES, WidF—. RAFIZF
BALE, foERNA 2.5uL, FIMN 2.5uL ZRIBKANT) 5 SIEMEREERE W (WIEE 02¢ ES),
MZTH VI AW RN AREFHITE.
. GRITE.
1. ERARETE:
TC(uglg E)=(C FRMXV2) xMrx(A TUFE-A 2 E)-(A FA-A 5 H)y{(WxVIV)xD
~1998.7x(A FE-A ZF)=(A FRfE-A () “WxD
2. RmEREETE
TC(ug/10% cell)=(C FRAEXV2) x(A TUFE-A 2 E)=(A FE-A 2 E)=(500xV1V)xD
—4x(A JUF-A ) (A FAR-A ZE)<D
3. itk TC A BitHE:
TC(ug/mL)=(C FRAEXV2) xMrx(A JUR-A 25 F)-(A Rf-A 25 E)=VIxD
—~1998.7x(A UE-A Z3E9)+(A FRfE-A Z5E)xD
TC(mmol/L)=(C FRAEXV2)x(A 5E-A 25 E)+(A FRE-A ZE)=VIxD
=5 17x(A FE-A ZE)=(A FRfE-A ZE)XD

C $rA---5.17mmol/L; Mr=386.6---BE B F=;
VI1---FEARIINEFR, 0.0025mL; V2---FRE AN GEER, 0.0025mL;
V-1 BURAATR, 1mL; D---HREEE, KRWERIA 1,
500---4HpEEE, 7, W---H#ABRERE, g
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